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For movables which he denied — 19D57 PIURURAN

Overview

The X3 cites two versions of the ruling of the *¥7771 regarding writing a aRw A
(xn273X).! The first version is that we do not write a Ixw;77 for P2u50n (because it is
not in his possession), and the second version is that we do not write a IXw 7 for
1huoun if the litigant (who is in possession of these 12v%vn) denies that it belongs to
the original owner (who wishes to write the IXw"i7 in order to retrieve them). NMo0IN
discusses the practical ruling that is relevant nowadays.

- NPT RY Ny0) 199957 XJ050NIN 1PPON NNINN 21T 1NN NITINNT ININ 1924 and
The 11" wrote that nowadays the custom is to write a Xw-7 even for PHu LR
799957, but I (the 201077 Hv2) do not know the reason why we do so —

mooin offers an explanation for the ruling of the r"~:
= 11595 RI9)T NINDT 2N NXIYIDI RNIYNT NHYLT YI91) DN 1%

And the n"1 explains that the reason we write a XW"1 even on 71937 “HuHun is
because the ruling is like that latter version of the *¥7773, for the X°310 of the X973

elsewhere agrees with this latter version. moon cites his proof -
- N1 1119 2199 WINT DIYY SPAUNT NIYD P97 (0w 2,5 97 MNAWAT

For in myiaw ndon the X ni infers; ‘the reason he is exempt from a M7 127p is
because he said to a potential witness, ‘I adjure you to testify that a certain person

(a third party) is a 3772°, which is not a monetary issue -
- SR S99 IWNYOIY 1Y SNOYD NP NI 17290 1199 93 301995 N3 N

However if one said to a potential witness, ‘I adjure you to testify that a certain
person owes another person a 711%’°, and they refuse to testify (and they could have
testified), the rule is they are obligated to bring a m7vi1 1279, but how could this be

! See previous X? 7"7 "o,
2 The apparent difference between the two versions is that according to the first version we do not write a 78w for
1ou%un at all (even if the litigant does not deny the ownership of the claimant), because it is not \nw12. However the
MRT 82K reject this ruling (there is no problem of 1M1w"2 1K in order to write a XwW17), they only disallow writing a
TRWAT on 7197927 *Hubun, but not on other PHvYLA.
3 The 7N writes in (X,7 81°1) 1MW XWN T3 K7 a8 "3 79 X371 That one who withholds testimony and swears falsely
that he does not know testimony, transgresses a sin and is required to being a 771 727 127p. The mwn there excludes
testimony which are not of a monetary nature, like testifying that someone (else) is a 3712.
4 The n"27 M7 amends this to read, 03°%y %18 ¥awnT (instead of 03°9y vy awnT).
SR,
¢ In the inferred case mentioned above, it was a third party that adjured them to testify that >11%5 722 1199 711, and
nevertheless the inference from the miwn was that the 2>7v are 2°°n the M7 127p.
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since the ;73w taught in the X230 that the 0°7v are not liable for the N17¥7 3277 unless

they hear the request to testify from the mouth of the claimant’. The x 3 there

answered -
= 050NN NNINN 192213 XY S¥T913 Y9IN XN INYINA N33 ININIY 919N

‘o said that the case is where the third party who adjured the N7y came with a
aRwa? from the claimant (so he is considered as if he is the claimant). The X713
there asked, how could he have a valid xw"7, but the *»79:71 said we do not write

a JINWT on PYURYR’. The xm3 there answered -
= (x,01 97 mMa3) $9192 WY P92 199 132N 1995 XY YAN 199954 7999 9N

‘When did the >y7771 say that we do not write a IXwI7 on P2u5%un that is only if the
litigant denies owing the P20%vn, however if he is not denying it, we do write a

TRWIT on 7°70o0n’°, and this is also found in 2122 @Y P95, We see that the Xm3 accepts
the 2"7 of the *y77m1 (not like the p"?) -
= 195215 %995 199N 19 DN ININA NIYIDI NNIYNT 1199

So since we see from the X713 that the ;7257 is like the latter version (that we can

write a RWI7 on 1PYuowR), therefore we can write a IRWIT7 even on 799857 PHuvhLA -
- 10x955W5 1T DIV N59997 PIVIVAN 133N YT RHYO YION XINI NIWSY 1T

For the latter version explains its reason why we do not write a IXWw17 on oubunR

me27, because it appears like a falsehood -
- (3,991 %) VN Y3 P93 (x,n9 97 mama) 3NN PIONTI 115U N Y NIPIUI NIHNIY)

However we are not concerned for NP > 9%, as the X3 concludes in po

an>7 and in ¥AT 92 PAD, where the X3 states -
— 129735595 HHMONNN YTND ITHDIT MDD NANIMIT 339 TT RNIYN NN 9INT 299 2970 N5HT

That the ruling of ''1 [is rejected], who stated, ‘this authentication of the judges
which was written before the witnesses came to testify on their signatures -

7 The n"277 M1 amends this to read 77927 89971 °2 7 (instead of 1937 *9n).
8 See footnote # 24.
% This means that we do not accept the ruling of the ®»p X1w*7 that a 7817 cannot be written on something which is
not in his possession, rather this is of no concern.
10 He writes in the nXw7 that he is transferring the ownership of the disputed 172070 to his agent (the Awn). However
we do not know that the 7w n has any rights in these 1°20%vn, perhaps the litigant is correct and it does not belong to
the 7won, so how can he transfer it to the 7w if it does not belong to him?! This seems like a lie!
"' We accept the ruling of the XIn2 Xaw>7 that a AXWA7 can be written even for something which is not in his nwA. We,
however reject the concern of the 2" that we are concerned for X7pw> *1non, rather we are not concerned for 1
RIpP°w2, as MAOIN continues to prove that Xp*w> *1°n is of no concern..
12 5" maintains that if the 0°1»7 wrote up the text of their authentication of the signatures on a document, before the
witnesses came to authenticate their signatures, that document is invalid, even if the 0°17 signed it after the o7
authenticated their signatures. The reason is that the document, which states, ‘we have seen and authenticated the
signatures’ is a false statement, since when it was written the signatures were not authenticated. We however do not
accept the ruling of 8", and we maintain Jw»n XY KW “117°n7!
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= NPV MNMNT DIVN NIV

Is invalid, since it is X9?w> 51119%°; we do not accept s"9d 11 ruling, rather we are not
concerned for XIpw> 1.

n1voIN asks:
= (%,01 97 5199922 (3,55 97 MPAYA 19 ON NIPIYI 3TN 132WN XY 1129 99NN ON)

And if you will say, since we are not concerned for X9p>w> 5117197, so therefore in

MIYIEw MNoon and N1MI92 -
- NIPYT 0905 159 711 15309 KY 9NT 531913 137599 %

When the X923 asked, based on the ruling of *v77771 who say, ‘we do not write a
aRWAT on (7°7937) 7Hubun, the RXx should have answered that this ruling is
rejected, as we just stated that 1w»n X2 XpWw3 107 —

MO0IN answers:
= 1N51YDT 2) DY OGN RNDNIN 999D RINNT ROHINT 991D U

And one can say that it is the manner of the X923 to ask a question from a ruling

even though it was rejected. noon proves this -
= 1687 50D N2 NN 1SRN 297 NONTMIN 199 2972 T99 M) (3,85 91 MAINIT '3 PI9aY

For in the second 92 of n12yn> ndon, the X123 also challenges the ruling of 7'

from the ruling of 8''9, and on account of this question the X 13 retracts -
= 175951994 (3,79 97 mamna) 259N 9INT 2) HY GN D927 N0

And edits the statement of 77"7, even though the X713 in 2n1277 P75 states that the

ruling of "7 is rejected. We see that we ask questions and even revise statements on account
of a rejected ruling —

mooIn qualifies this previous proof:
= NOVIPY NNPY 919995 NIN 999 29N NP ND RIPY 9INPT XNT 1B0NN w9191 295 179

However according to the one who explained there, that this which the X772

13 See previously in this 11901 that the X3 asked on PX1mw who said ARw"72 X223, ‘but the "y ruled RN27X 137200 R?
uunK’.
14 mpoIn means that the X3 wants to justify the ruling even according to the rejected ruling of the *y7173, who agree
with 95 27 that we are concerned for RIp w2 *1n.
15 %197 21 ruled there that if two of the three 0’27 recognize the signatures they may testify before the third 17, and
then they can all sign the authentication, provided that they testify before the two sign. This indicates that the
authentication was already written (for all we require that they testify before they sign), but how can this be, since
according to " this authentication is invalid, for since it was written prior to the authentication, it is Xp*w2 *1°n.
16 On account of this question (see footnote # 15) the X3 revised the ruling of 7" that instead of saying the 2’17 can
testify to the third 17 before they sign, it is revised that they can testify provided the authentication was not written yet.
17 We see for this X723 that it is customary for the X723 to ask (and answer) question based on rulings that are rejected.
13 In ma1n> and Pwa.
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stated, ‘it is not s0’,!° the X3 was not referring to the ruling of 5" regarding
NP w> 111, but rather it meant that there is no question -

- 20154 £1527 NYPIY NINAY 1PYMN RPIT MIVY DYDY NXOVYD PNT
There is no difficulty from the ruling of "9, for it is only by authentication of

notes that we are concerned for the appearance of falsehood by a 7''"2 -
=999 2971 72997 DIWM 2RI NT PPN TN AN 29719 XY D) INWA YaN

However regarding other issues (not a 7"2) there is no concern for Xp°w> *11°» as
we see from the ruling of 2'""9. If this is the correct interpretation of 'kn°2Y', there is

no proof from the fact that the X711 challenged 77" from the ruling of 8''9, since 7"
was also discussing MY a1p.

mooin asks:
= 02T MMAYT PIINAN 2IYN NN INND SPTINNT NNIP NIWIYT 9NN ON)

An if you will say; but according to the first version of the >¥79771 that we do not
write a IRwIn for Hvovn at all, what will they answer to explain the nywn of

NIIAw NINoon and MM, from where it appears that we do write a xwA7 (at least on PHwwA
93 X97), not like the Xnp X1 —

moon (first) offers a partial resolution to his question:
= 22959393 9INRT INHDIY MYPIPA NPIND 810 MMAYT PHINNN 171

However, regarding the ;71w in 112w we can establish the inferred case (of 711
P20 %o 772 11999)? that it was regarding real estate (where the P"2 of ¥
agree that we can write a IXWIT on ¥YpIp since ¥pIp is always 2°%va mwa2) and

according to the 7' that we swear even on vp7p -
= MYPIPA PN MMNRT NN NIPIND NID 9192 11792 299RT HN92T NINNA HaN

19 In both mnoon the X »3 challenged a ruling which indicated that X7p°w 1% 1w n X7 from the ruling of 5" that
XIPOW 1 11w, After asking the question the X3 answers 191 1AM 27772 X021, We have (thus far) understood this
'RN*' to mean that the ruling of 5" is rejected in face of the ruling of 1", who is not X3 *1*n? wwn. [The ruling
of 1"7 is that according to »" even if one finds a written v in the garbage, he may give it to witnesses to sign and it
is valid. Obviously there is no concern for 87p°w> *11°n.] According to this interpretation, the ruling of 5" that 1w n
XIP°W2 TN was rejected, and Moon proof is valid. However there is another interpretation of the word 'xn>?1".

20 We must be very meticulous when dealing with a 7"»2 that there should be no sign of X p°w2 1.

2! moon wanted to bring proof from the discussion regarding 71" that the X7n3 asks and revises statements based on a
rejected view (the view of 8"9), which would explain the s'%7 13 question based on the rejected view of the *¥7771 (see
[text by] footnote # 14). However according to the w19n, there was no rejection of 5" regarding N vw avp, therefore
the &7n3 rightfully challenged 71" who was also discussing n1Mvw a1p. We have no support for nnomn answer.

22 See footnote # 6. The claim was that 17w»w owed 72X real estate. The 07 have to swear that they do not know any
testimony before they are M7y 1277 21 and generally the accepted opinion is that there is no 712w on ¥pp. However
we can say that the inferred case is according to the 7"n that mypapi %y pvawi. See ‘Thinking it over’ # 1.

23 See footnote # 6.
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However regarding that ;7:w» in nm122,2* which is discussing 2"7775, we cannot

establish it according to the 7' that one can be 7779 his 7122 with?S ppap -
= 119 PPN 263w NYNNA NP NI4T

For that ;mwn states explicitly that we are not ;7719 a M52 with ypap.

nBoIN answers:
= 2899 %2999 INIVY 27995210 29N THANNY NINPIND NIINT 91217 W

And one can say that it is possible (for the *y77717 ") to establish the case where
one owes his friend money and he is asking that he should be paid on account of
the ruling of 2'"% —

An alternate explanation according to the p"7:
= )WY 1R¥N2 1Y 1NIY ) ON

Or you may also say that he transferred it to him in the presence of all three*’ -

N190IN inserts a caveat:
= INYHY 1H¥193 150 D192 OR PTPTY P98 MHTI19aT NYNNA 1M

24 The mwn there on 2,mn states that if two women (who are married to two people) gave birth to two 2°1132 and both
fathers paid ten 2°¥90 (five each) for the 27175 of both 01132, and then one of the babies died before he was thirty days
old and we do not know whose baby died. The rule is if they paid the money (10 2°¥70) to one 3733, the 3775 must refund
0°v¥o0 '71 since one baby died prematurely, (and the two fathers will divide it), however if they gave it to two 0°1713
neither 175 is obligated to return the o°v70 71 for he could argue, ‘the baby which I redeemed is alive’. The & asked
that even if they gave it to one 3772 he can tell each father who wants a refund that your baby is alive. The X3 answered
that one father gave the other father a fXw";1 to collect the refund. Therefore he approaches the 172 and demands
payment for one M3, for in any event the 175 owes either him or the other father 2°v%0 ‘77, and since he is a 7w, the
1172 must refund the 2°¥70 '71. The X713 continues to ask that the *v7771 say that 21 Xn27 a3 P& and answered like
the X1n2 X1w°2. How will the p"? explain that mawn.
25 This means that they each gave the 1713 five 2°¥%0 worth of ¥pp.
26 x X1
27 In the case of the nnw M2 let us say that WwnwY 1287 are the two fathers, and 1W»w happens to owe 121X five 2y90.
121 comes to the 3712 and says pay me five w91 7an °v50; if my baby died, you owe me 2°¥20 7 and if s1Wwnw baby
died, you owe him 0°¥20 "7 and since you owe him 2°v%0 77 and he owes me 2°¥%0 '71, according to 1n1 ' (see footnote
# 28), the 772 must pay 128 the 1"»n 2°¥90 7. In the case of MY n¥aw. the one who is ¥°awn the 0>7v that they should
testify that Jwnw owes 12187 money, he is also the creditor of 121X, so therefore it is as if 17Wnw owes him money and
therefore the claim is made ¥21077 *91. See text by footnote # 6.
28 The ruling of 1" is that if % owes Nwaw, and Ny»w owes 121X, the law is that 12387 can go directly to ™17 and collect
the amount he is owed (provided that *Y? owes that amount [or more] to }wnw).
2 In the case of nnw M1 (see footnote # 27) it is not necessary to say that w»w owes 12187 the 2°v20 ', but rather that
1w told 12987 in the presence of the 172 (all three — JnW5Ww 7Yn) that YW is instructing the 775 that the money he
may owe to 1W»w should be given to 123X, Similarly by n7vi ny1aw, j287 is instructing 1W»w in the presence of all
three (1w ,723%7 and the ¥°2wn) that the money should be given to the one who is ¥2wn the 0*7v,.
30 1nwhw Tmyn is a means of transferring assets from one to another without making a traditional Pap. If 17wnw has
something of 12387 (either a 17779 or a loan), 121X can instruct NW»W to transfer this asset to "7 (in the presence of all
three *12 NYnw 2387), and 1 becomes the new owner of this asset.
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However regarding the case of n19122, it is necessary to question whether he can

transfer the 0°¥%0 17 from the 1772 through jnwHw TRy -
= 397550 NONINY 9192 190 N MINY NINT 119

Since 1w»w himself would not be able to extract the 2°¥%0 "7 from the possession
of the 3772 -
- 3ZIPYHY 1RYNRa Y NI PN NNV

Just like by a 712303, where she cannot give it through jnwbw T2wn -
- (4,02 9710P%) 92INNA YNONY 193 0NN MY NINdI NYT 3

Since a 72102 is not given over to the woman that she can collect it while her
husband is still alive, as it is stated explicitly in 2277 P99,

moon discuses an anticipated difficulty:
= 11912 199N ANYAN 212D 122713 IRV D) DY MNND PPN

And one should not be astounded regarding our custom to write a X977 even

for a loan -
= 3195205 1INIVN NNIPNY DI DN PRY 29 DY 9N

Even though that a person cannot transfer his (oral)** loan to his friend -
= 3N9923 NNON DAY INNIVNT NISND PHITY (x,nnp 97 X903 xa3) HNAY D2 NIMNT

As is evident in n»w °» P79, where the X 13 struggles to find a case that by a

healthy person he can transfer his loan to another -
- YUY 1PN 33 O 360YW YW DININ NIN SNIUNY 813 XYY

And the X773 could not find a case where it i1s transferred, rather the reason it is

31 mpoin is suggesting that JNW>w Tavn is effective only if the bestower (172187 in footnote # 30), can collect the asset
from the one who owes it to him, however if the bestower cannot collect it, as in our case where neither father can
collect from the 3713, in that case JnwW5w Tmy» may not be effective.
32 The wife cannot instruct her husband to transfer the 72112 obligation to a designated recipient even JnWHw Tavna,
since right now the woman cannot collect her 72105 (she is still married). The same applies elsewhere that perhaps
INwSW Ty is effective only when it can be collected from the debtor now. See ‘Thinking it over’ # 2.
33 The idea why a nxw 7 is effective is because we consider it that the 7w transfers the ownership of the assets in
question to the 7w, However since one cannot transfer a loan (even with a valid 1°1p), how can he write a axwA,
since the 7w n cannot transfer the loan.
3% One can transfer a w2 797 to his friend by writing another 70w, stating that he is transferring the debt to the new
recipient, and in addition by handing over the original 7uw to the new recipient. This does not apply to a "y 779,
35 The X3 there states that if a ¥y 25w says *1179% nx197 (the loan which someone owes be should be paid to 1199),
the rule is that the m> must pay *1125. The X713 asks where do find that by a X*72 such a transfer works (even) with a
"1, so that we can say that by a ¥y 22w it works by saying (without a 1°1p). The 71pn by a n"ow is that where otherwise
a 1Ip is required, by a n"ow it is sufficient that he says it and it is considered as if he made a 13p. However if something
cannot be transferred with a 11p (like *1199% *nX197), how can it be transferred by the saying of a n">w. The saying of a
n"Jw is not better than a °1p!
36 If a mon (even a ®12) dies, the debtor owes the money to the heirs of the M.
37 See footnote # 30.
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effective by a n"2w is since his heir inherits this loan, therefore he can transfer it
with a n"2w ninn, for it too is considered an inheritance, or you can also say that this

5"V M71 can be transferred WY 7YR3, therefore it is also effective by n"aw ninn even if

it was not given JnwHw AN -
- 1199 %311 Y81 XY PPIY DIVAT YPUN

It seems from that X773 that there is no way in which a 5"y m%» can be transferred,
so how is it that we write a IR on a 8"y M%7 since it cannot be transferred to the mw"m —

mooIn explains how we can write a %W (even) on a "y Mon:
- 3859NT NIIND )9 NPT 11994
For since we have established the ruling like the 7'R of the >y -
- IRNININ 19209 33 NYINT PYVYVNIN NIYSY TAY)

And according to this version we can write a IXw977 even on stolen movables -
- WMTPNY 9192 PRY M9 IMIPNY 9130 PNV 29 Y 9N

Even though the owner of the stolen goods cannot transfer ownership of these

goods to another, just as the owner cannot be @>7p» these 77°137 150507 -
- WMDY P9I PN DY DIYAN IWNRMNI XY JTHT 13N 9399 19 NPT

For we have established the ruling like 3''1 that in a case where he stole an item and

the owners were not wX»n», neither of them (the thief or the owner) can be w>7p»

this item, and the same applies that they cannot be 7117 this item -
= 409499 1193910 79994 (ow pry x,1 97 NYISND NALT NNOP P93 YNRWNTS

As it seems in the first P9 of 2''2 n2on where the X723 asks from the ruling of >

on 21 -
- WTPAY Y99 513 19D KY PYVLYON UXMDND ONT NIINT NAND 1207 NN 9193 YNRUN)Y

And it also appears from the X712 there that the X923 assumes that if the xnwo»

was movable, the ®131 would not be able to be 2°7p% it, and nevertheless according to

the 7"X we write a IRWI7 on 392°137 2S0h0n -
= ANYAN 12%A05 NNMIPAY DI PRY 29 by GX ZANIIN PN NN

The same rule applies to a loan that even though the creditor cannot transfer it,

38 See footnote # 2 & 9.
3 See previous X2 1"7 '01n that the dispute between the p"2 and the 7"X is by 727127 *Svoun..
40 In our text there it is 1M1 27 from whose ruling it was inferred that if the aggrieved party can retrieve his loss in
court, he can be w*7pn it. The X3 challenged this ruling from *"1 who maintains w>7pa> 1215° 1R omaw. This proves
that the X773 accepts the ruling of >".
41 A xmon is a bath(house).
42 mpoIn is comparing AR to 72°13; if AXWA works by 79713 it should work by 7xY?7. In both cases the item is not in
the mwA of the nwn. By %13 the item exists, but it was taken from the owners unwillingly — 7213, By X171 the item
does not really exist, it is money owed to him (even if it was given voluntarily).
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nevertheless we can write a INRT on this loan, just like we can write on 72137 *ubun -
- 359590 HHHYT 1IPPON NIV INNYT NIYD)

And the reason why we can write it is because according to this version of the 7"

the X3 concludes that the 7w made the 7w into a mo5w -
= 9902 1237 N3P NN 1IN MNSYY Py MIPN UM

And the 251 made an enactment regarding this nybw as if the v n/mow
would acquire the item in question with a complete 1P —

mooin offers support for this custom of writing a IXw7 for a loan:
= INTIN 22 9T PIUM NN NI 294 (3,77 971mp%) (NINA) DN ANINY 70D YN

And there is support for this custom in (X7n3) 137 P19, where the Xma relates:

the Xpp 39 was owed money by the people of S8 -
— NN 1Y NPAND P9 NN 23 4195527 NOYON AN 19912 92 ININY 299 112%IPN

He transferred the ownership of this money to "2w= through the 23X 1717 using
the threshold of his house, and when >"2w7 came back with the money, Xpp 29

went out to greet him until 790; he was so happy that he retrieved his money -
— NN PYY YU ProN)

And the word pen indicates a loan. We see from there that 5" was 7w this loan to >"aw —

mooIn rejects this proof:
— SARNNY 1N ROY 19910 NPOIYA PIONT PINTY YN

And one can deflect this proof for the term 2%0% can be discussing an investment
that cannot be spent for his own interest (and not [necessarily] a loan) —

An additional refutation of this proof:
= 290129 19°09) XY (3,13 97 x9n2 823) 20N NN 9IINY (x,m 7 xy>3n x32) ANTNAT TIY)

And additionally in 2777 P79 and in 57299877 R 9297 P19 where this story is cited,
the text does not read, *X717 °2 17 PO -

— 09901 Y93 INTIN 2 O 7YY 1IN NON
But rather in all the texts it reads, ‘he had money by X7’ which indicates more of a
175 than a loan -

43 The mx3pn of a xwAA is a legal fiction. The item always belongs to the 7w, not the mw . It is only in order that
the opposing litigant should not be able to claim nX >7>7 27127 Hv2 87 that we consider the 7w as the owner. Therefore
it is understood that the 7w n cannot really be 7ipn the item in question since it is not 1NWI3, so really the Aw"n is
merely a m%w of the 0°%v2. Regarding this mn*5w the 0'an instituted that we consider the M@ as the owner, for the
limited purpose that other litigant cannot claim nx >7°7 2°7127 %92 R?.
44 This was the mode of 717 that made the nxwn: effective.
4 Either the initial invested money exists or the goods which were purchased with the money exists.
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- MIYINY 9I9PY 121 119 233 (01 91 “CMNNAAT NINDN PTPTY PNY
And we cannot infer from that X723 in n19123 N2on regarding 2''7772 that one may

be 71w=n even for a loan, for there we say that one was 7w n the other to retrieve the money from
the 17 -
= DYYIY PIN NNV INMNYIN YPUN RIT NININT NI DY 105D 1NV 29 Uy 4N

Even though the 2"7779 money was given to the 377> with the intent that he can

spend it, for they did not assume that the child would die within thirty days (and

they will want a refund) -
= 7P MYINY D19 NNON

It is therefore seemingly evident that on can be 7w9% even for a loan —

mooIn rejects this proof:
— 485 93,3 NOSINY NN DY IND TIN5 DY onnY

For there, perforce we must assume that they did not give the 7772 the 2"7775 money

with the intent that he spend it -
- (ow) NPIYNY NONNY THIDA DNN IMINT INMWI |9 NPT

For we have established the ruling like "8, who stated there, nearby to that
R0 -

9979 192 PNRT MYNN IVINNY 0OVYHY TINA 12 N9Y
That one who redeems his son within thirty days of his birth and the money was

consumed before the child reached thirty days, that his son is not redeemed, so the
172 must have been instructed to hold on to the money, therefore it was a 11775 and not a loan, that
is why a X171 could be written.

Summary
We can write a 7RI even on 711937 *Huhun since the ruling is like the 7"% and we

are not concerned for X1p°w> 1. We may even write a IXwI17 on a loan since he is
a mow, for whom the 25m instituted as if he acquired it 3 1732

Thinking it over
1. m»ooIn writes that we can establish the case of M¥12w (according to the p" of the
w77m) by vpp.* Why did not mooin answer that we can establish it by a 117D

46 See footnote # 24.
47 The difference between a loan and a 117p2 (deposit) is that the borrower may spend the money of the loan, while the
custodian of a NP9 may not use the money at all. A X127 cannot be transferred (unless 1nWHw TY»3), however a NTPd
can be transferred.
48 Rather it was given to the 3712 as a 17pD.
4 See footnote # 22.
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(where he can be wpn it°°)?1°!

2. MdoIN seem to be (somewhat) unsure whether 1nwW5w 7Y would be effective by
7132, since the bestower cannot collect it from the 372, just as w"nyn is ineffective by
a m2n2.2 Is the case of 1192 any different from 72105 that it is possible to distinguish
between them, and maintain that by 7152 the w"nyn would be effective?

30 See footnote # 39.
31 See R"wAmn.
32 See footnote 32.
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